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Section A { 10 x 2m = 20 marks )
Choose the correct answer and write its number in the brackets

provided.

1) Which of the following number comes just after 8 ?

(1) three (2) seven
(3) five (4} nine { )

2) How many balls are tﬁere?
CEEEEQEEE
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(1) eighteen (2) seventeen |
(3) twenty (4) nineteen A )

3)  Which of the followings gives the greatest answer?

(1) 7-3 (2) 8-1
(3) 94 (4) 107 ( )




4) | Wh;ch set makes 10?

@@

(1) SetA (2) SetB
(3) SetC (4) SetD ( )

5) What shape is the figure below made up of?

(1) square (2) rectangle
(3) circle (4) triangle ( )
.-B) The box is > {ong.
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(1) 8 - 2) 7
(3) 6 | (4) 5
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7)  Find the missing number to complete the number bond.

(1) 3 (2) 6

(3) 13 (4) 19 ( )
8) 7is less than 12.

(1) 6 2y 7

(3) 13 (4) 19 ( )

9) Look at the picture.

Apple

The apple is the lemon.
(1) as heavyas (2) heavier than
(3) aslightas (4) lighter than ( )

3 A




10) There are 1/{ mushrooms.

Mrs Teo uses 9 mushrooms to make soup.
. There are mushrooms left.

(1) 5
2) 6

3) 7 | |
4) 8 {

Section B (25 x 2m = 50 marks)
Read the instructions and do the questions carefully.

11} Count and write the number in words.

.




12) Look at the pattern below.

AOQAOQ?‘

What comes next? (Tick v your answer in the box. )
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1‘3) Write a number bond to solve the problem beibw_

Joseph bought 5 stickers on Monday.

He bought 3 stickers on Tuesday.

How many stickers did he buy altogether?

J/

14} Add 9 and 2. The answer is

15) 16 =

‘ten(s)-and

ones.




16) Look at the figure below.

Circle the third hen from the right.

18) Complete the number bond.

Fill in the missing number.



19) Colour the 1% letter.

@UN@AP@L&E

20) Write a subtraction sentence for the picture below.
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| '_:"21) Count and fill in the blanks. |

Fish

Nets

There are more fish than nets. Z




22) Complete the number pattern.

1 B2 1] 41 \

-

23) Circle the sets that give an answer 2fiore than 12.
10
20 - 10

/173/ 16 + 3 7/7+7

24) ‘Look at the numbers below.
Write an addition sentence using only 3-of the numbers.

DAAOAY
Romen

25) Arrange the numbers in order.

G2y (s (o) () (oo

smallest
Z




26) 1am a 2-digit number and | am less than 20.
My first digit is an odd number.smaliar.than 5.
| When.my. two digits are-added, the answer is'7 .

What number am {?

[ am

27) H

There are circles and rectangles.
stapler
.28)
i pencil . '

The pencil is D longer than the stapler.

9




29)

30) 8+5 is

31} 12 and 4 make

more than 14 -7 .

is between 13 and 15

' 32)' Subtract 6 from 1 tens 7 ones. The answeris -

33) 20 =

tens 10 cnes

34) Write the sign’ + or '~ "in the O .

35)

14 l:

8 =3 [: 3

Box D has 2 fewer stars than Box
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36) Use {7} as 1 unit

@@ E’@‘ ‘@’

a) The mass of the kettle is _ (7

b) The total mass of the soap and the can of juice is

7.

37} Shannon is standing in a queue at the canteen.
. When counted from the front, she is fourth in line.
When counted from the back, she is also fourth in the line.
How many pupils are there in the queue?

There are pupils in the queue.

A




38) Look at the scales given below.

Arrange the objects from the lightest to the heaviast

Lightest

39) Jenny is shorter than Siti.
Mary is the shortest.
Write the names of the girls in the boxes.

40) = 20
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Q = 10 more than qu
LA

12




Sectlon C: Storv Sums { 5 x 4m = 20 marks)-

Read the questions careful!v and show your workmqs clearly

41}y John has 4 balls
His brother has 6 balls.
How many balis do they have altogether?

They have balls altogether.

42} Mrs Lim needs 9 pineapples for making tarts.

She already has 7 pineapples.
How many more pineapples must she buy?

o

Hl
i
I,

She must buy more pineapples.

Working



43) Andrew bought some eggs. | '—*‘Wdr'king
After using 8 for baking, he still had 8 eggs left. R
How many eggs did he buy?

N

He bought eggs.

44) Alvin has 20 balloons.
He has 9 balloons more than Leon.
How many balloons does Leon have?

O

l.eon has balloons




45) Me! has 9 fewer erasers than Kenneth.
Joshua has 5 more erasers than Kenneth.

if Mel has 4 erasers,

how many erasers does Joshua have?

1O

O

Joshua has

THEEND

erasers.
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EXAM PAPER 2009

SCHOOL : PEI HWA PRIMARY
SUBJECT : PRIMARY 1 MATHEMATICS

TERM : SA1
Q1 Q21 Q3 {Q4]Q51Q61Q7 108! Q9 [Q10] S
4 {14 211}12i{2{41{1{4]324

11)eleven 12)A 13) 14)11 15)1,6 16)XXXXXO0XX
17)7,8 18)5 @ 19)S 20)12-8=4 21)3

22)7 23)17-3,7+7 24)749=16 25)8,10,12,15,20 26)16
27)3,6 28)4 29)14 30)6 31)16 32)11 33)1 34)-,+ 35)C

36)a)e b)s 37)7 38)BACD 39)Jenny, Siti, Mary 40)5

41)4+6=10
They have 10 balls altogether.

42)9-7-2
She must buy 2 more pineapples.

43)8+8=16
He bought 16 eggs.

44)20-9=11
Leon has 11 balloons.

45)4+9=13
13+5=18
Joshua has 18 erasers.





